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eneral Instructions :

| The question paper consists of 2 sections - Section A (having 27 questions) and Section B
(having 12 questions). :

All questions are compulsory.

. There is no overall choice. However, internal choices have been provided in three
questions of 2/3 marks category, and all the six questions of five marks each.

- All questions of Section A, and Section B, are to be attempted separately.

. Questions 1 to 4 in Section A, and Questions 28 and 29 in Section B, are multiple choice

questions and carry 1 mark each.

. Questions 5 to 10 in Section A, and Quest ons 30 to 32 in Section B, are very short answer

type questions and carry 1 mark each. :

Questions 11-16 in Section A, and Questions 33 to 35 in section B, are short answer type
questions and carry 2 marks each. :

Questions 17 to 23 in Section A, and Questions 36 and 37 in Section B, are also short
answer type questions and carry 3 marks each. "

Question 24 to 27 in Section A, and Question 38 and 39 in Section B, are long answer type
questions and carry 5 marks each.*
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(a) CFCs _ : ~ (b) Smoke
- {c) .Oxygen - . (d) CO

fr= 7 9§ #1991y ygus T 22 :

(a) CFC | ' by it

() iesH d) CO

o~ o~

SECTION - A (&s-31)

Identify a poor conductor of electricity from the following :-

(a) Tap water _ (b) Distilled water

(c) Lime water (d) Pond water

o feu T fosen § @ fagd & HA@E H TG HIWC -
(@) T okl S (b) YA ST

() ¥ I A . (d) TEAE H SA

Once a body starts moving on the surface of a table, the friction which

comes into play is :

(a) Static (b) Limiting

(c) Sliding (d) Rolling
ﬁ@ﬁaﬁémﬁa@wmnﬁmﬁ%aﬁmwﬁwaﬁw% -
(a) ¥ (b)) e (fafafn)

(c) ¥di ' (d) «refw

Select the combination of conditions essential for the process of combustion
from the following.

(a) Oxygen, water and carbon dioxide

(b) Oxygen, ignition temperature and fuel

(c) Oxygen, carbon dioxide and fuel

(d) Water, ignition temperature and fuel

ﬁﬁﬁqmﬁ@mmﬁmwﬁaﬁ@¢mww
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Which of the following is not an air pollutant?
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When a potter makes a pot from kneaded clay, what is the effect of force applied - v
on the clay?

mqmmqﬁgﬁﬁgﬁﬁaﬁm%ﬁﬁgﬁmm%wmgw
wsﬁm%7 | ’

Aball 'A' is rolled on a table covered with a thm plastic sheet and another ball

‘and way?

T g ‘A’ ﬁWﬂM?ﬁz@ﬁ%gﬁﬁamwm%w
EGIURIC 8 aﬁmaﬂaﬁgéﬁamwmélﬁa—ﬁrﬁam
famrawﬁa:rrwﬁamaa‘t?

- Name the Phenomenon in whlch electric current is generated by a changing

magnetic field.
| wmmmﬂmmmﬁwhéaﬁvﬁaﬁqm%ga o I

F S 2

Give an example of a natural, renewable source of energy.

T Yepfaeh Fehoid Sl oh Wi hl S T

| Define fuel.
| Sym &t gl fafem)

. How are CFCs harmful to our environment?

Cchnahm@mmmaﬁm?

. Give reason for the following -
(@) The sole cf your shoe is grooved?
(b) Drops of vil are poured on the hmges uf a door

e % fow wRw fafaw .-
(a) m@mmw_mﬁl
(b) mﬁ#mﬁmﬂaaﬁg’%a&ﬁw%l

. Define the term ep1centre of the ea-thquake. On richter scale at what 4
strength does it become a major destiuctive quake. :
e # feE w AR B z{a?{ﬁmﬁmﬁﬁmmﬁﬁmw
[ERIRE RS i A 4

VI-SCIENCE & TECENOLOGY = e (e

. 'B"is rolled on a table covered with sand paper. Which ball will come to rest first E




13.

14.
15;

16.

17,

18.

‘Name the kind of force acting in the following situations.

(a) Ripe fruits fall from a tree to the ground by themselves. :
(b) A labourer moving a loaded craft. :

=1 fefoal & o ot 991 & gwR w1 9w fafee -

() T BT Wel g8 ¥ I W 9gfF W iR 9w 1

(b) TH TN IHH ¥ @& M S 2

How is incomplete combustion harmful to us?

- 31quf 28 TAR fom fRE TR SRR 22

How does the use of blanket and water help in extinguishing fire?
Hae qU1 9 H ST 3 qFH § fF9 YFR GeEsw 22

Which gas is responsible for falling of leaves in plants? Write its one harmful

effect on human beings.

ﬁuﬁﬁwﬁaﬁ@ﬁﬁ@ﬁqaﬁqxﬁﬁuﬁwﬁ%wﬁvwmm@ |
BIfHeRe g9 fafeu)

Take a tin can, make two holes at two different points (one at lower end and -
one of upper end) along a vertical line in-'the tin. Fill the tin can with water.
(@) From which hole does the water emerge out farther? .

(b) Give reason for your answer.

(c) Name one more factor on which pressure of the liquid depends.

T fo o fesan wifor, < fafi fogel W Sewter g #ifvw (v frea

R W q21 T IW & ) fesd § 5o wfw
(@) fhE g 4 ¥ 5@ R fmom?

~(b) ¥ IW & fau Fwrw fafem)

() TF 3 % %1 9 fafaw fa w gg %1 3@ fsk #@r 2

(@) You are provided with a strong bar magnet and a coil of well insulated
wire. How can you momentarily light up a bulb using these two devices?
(b) Suggest two methods by which we can increase the illumination of bulb
in the above case. ,
(a) SMYHI Th Yool BS Frash qo fagaieh a” #1 Heah sqmoaaﬂréwé
%lﬁﬁmmmﬂmmmwwwﬁww :
% fau ' T gehd 22 .'
(b) wmmwﬁwmmaﬁ?aﬂﬁsﬁmﬁﬁ%ﬁw'
RIS

VHI-SCIENCE & TECHNOLOGY 2k d)




| During electrolysis of water -

(a) Name the substances obtained at cathode and at anode.

(b) *Write the role of dilute sulphuric acid in this process.

() Name the energy which is getting converted into chemical energy during
electrolysis. » |

5o & fowa e & SR -

2) Hefle 9ol T W W Twiel & T fafew

(b) 79 i § 7] GerieE ot & gfuen fafeul

© WW¢Wwwmewmmﬁm
GRGIE]

- OR( 3¥dT)

Mention the three prominent effects of chemical c‘hanges which occur
during electrolysis.
e ST b AN B A Tt e & A e Yl F See
HifoT| ‘

. Neha wants to electroplate an iron plate with copper

(a) What should the cathode be made up of?
(b) What should the anode be made up of?

(c) Name a substance which can used as an electrolyte here.
w@@%ﬁﬁz'mm@ﬁgﬂwsmmmﬁr%:
) helre fR gared 1 & e e
(b) e frg e # a A e ,
©) @wﬁwmmmwﬁwmmmmél

). On 25th April 2015 at 11:41 a.m. local time an earthquake of 7.8 magnitude
hit Nepal, with the epicenter 81 Km northwest of Kathmandu. The
Government of Nepal declared a state of emergency and requested for
international assistance. India once again carhe to the rescue of a neighbour
in distress as Nepal grappled with the earthquake which killed more than

~7000 people and injured more than twice of that. Indian team landed in
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23.

24.

Nepal to help. Answer the following questions :-
(a) What qualities were shown by Indian Government?

(b) Write two safety precautions that can be taken during an earthquake.

T H 25 3Tl 2015 FH FFA THI GIE P 11.41 W 7.8 TRA F1 T
T ot aifah= wemig | 81 el 3w ofvem § onl ue SR 3
ST feafa =ifva 1 qon sl weEa % fau erde #h T Ww
fh 9Ra =Af9d 9gifl 29 A9 S@T 7000 | Afee @ W MU ¢ qen 3EE
dﬂ%wﬁ&*mﬁmmmlﬁmﬁaaﬁmﬁmmﬁ
a1 et e @ TR e o A

(@) T TR B F @ o R v T 22

b) N G el fafeae st g ® A o S @ B

How does natural gas occur in nature? "It is advisable to use natural gas as a

fuel”. Give any two reasons for this statement.
yhfa § Wihfaes 19 ford YR sl 87 1 Wihide 9 H SHA B ®UH
ST 3fea 22 39 weM % fou FE Q@ wre Gfur ‘

-What is acid rain? Write two harmful effect of acid rain.

ST Ul T B 8, TR HIU oA I & <) BieHReE guE fafau)

Reena poured some hot water into a plastic bottle. She closed the lid of the
bdttle. Shook it for half dminute. Then she poured out the water and closed
the lid of the bottle tightly. Answer the following questions on the basis of the
above glven information. N
(a) What was Reena's observation at the end?

(b) Explain the reason for her observation.

(c) Give any twovdaily life situations where we make use of atmdspheric

pressure.

ﬂmﬁﬂmﬁa’mﬁﬁwﬁﬂm gl 39 SiTe 1 TEE 9T W
feam snet foe qe feemn fR So9 S 6 fon o siad w1 g FW
F A ‘ |
TR & T gEN F MR W = ywd % 3w fafew .-
(a) 3aF O 1 e M o2 |
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(b)mﬁmﬁmmwaﬁm| ' e
(c).WWﬁaﬁéﬁﬁuﬁmﬁmwgnmmmm .
mﬁ%l

OR ( 319dT)

(@) Write any two‘factorsv on which atmospheric pressure depends.

(b) Ram and Laxman went on a holiday Ram went to Ladakh and ‘La’xman.
went to Madhya Pradesh. Who is more likely to experlence d1ff1culty_
in breathmg Give reason for your answetr. :

¢) Why do we not feel atmospheric pressure acting onus?

a)@éﬁmmmmwmmﬁﬁwmél
b) TW dl RV TS W T U @ T Al TRV WeAwsy Tl
oo R voEe § HiaTE T SrgHE g Em?
() 9 o FW AgHEET T F ST Fi AR FW €2
(d),_mmﬁaﬁmmwwm?

(
(d) Why do aircrafts have pressurised cabins?
(
(

. (a) What is frictional force7 What is the cause of frlctlonal force’
' (b) lee two exampl_es where we deliberately increase friction.
(c) A ball is rolled on a road towards the north. What will be the di;ecﬁbﬂ
of the frictional force acting on it? If the direction of movement in the
above case is changed to the south by applymg force, then what will be
the direction of the frictional force? §

(a) T G FRE wEd &2 v 9| W FRO 2
(b)ﬁmmmﬁmwmmﬁwm%l- 4
(©) @ﬁaﬁmmwﬁwaﬁaﬂtww%lwmwﬁw%
o o 1 e 0 AN Ak SR K TG YT § S o
*1 feem 1 geeet o T fean S At o o 1 fen e eni?

OR ( 31¥d)

(a) Define fluid friction?

(b) Name the two factors on which the magnitude of the fluid friction depend'l .
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26. (a)

(b)
(a)
(b)

27. (a)

A ¥ U 39 a9 59 ARl % A fafe) @y €@ ye@w s|ar &

fafem

What is streamline flow? How does it help a vehicle to move faster?

T =Her st gl fafau)

el T 1 IR 59 Q) FRe R R s & 59 T fafe
YRREE 9819 1 g 8?2 ¥€ fhd aea 9 39 g ¥ few weR
TETH 87

How was coal formed in nature?

Write the names of solid and liquid products obtained from coal.

Also, write one use of each product.

Write the names of any two varities of coal. 24
ghfd H Higen fag yHR fifdq gem? |
T 3TE o fafeg

Hge 1 6= T Tl & T fafew

OR (3194

Explain what is refining of petroleum.

Mention four petroleum products and write one use of each.
T FifS fof eiferam aftsheor @ g @2
ﬁ#}wﬁﬂmmwm@aﬁmammwww

Write the names of three zones of a candle flame in the increasing order
of their temperature. _ o :
Which of the above zone contains unburnt carbon?

Describe an activity to show that the outermost zone of the flame is the

hottest. 141

Mﬁméaﬁaﬁﬁww@w@aﬁmﬁml
SR K T HF ¥ &7 F fow oS FEE w01 e 22 |
7e WG FH o o saren 1 awean 89 ga sifus T e
T fshamRema w1 9uiF wifsu)
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OR ( 379@T)

(a) Explain the term calorific Value. If calorific value of wood is 20000 KJ/Kg.
 Calculate the energy produced when 8 kg of wood is burnt.
(b) Write one harmfui effect of using fuels on each of the following.
(i) Environment (ii) Animals and human beings
(iif) Plants »
(a)  HOHIT A T HIFSQ) A AHE! 1 S A 20000 KJ/Kg € d ARE!
SR R S S iR Hifsu) '
 (b) aﬁ%ﬁqnﬁmmﬁmésﬂwm@mwﬁ.m =
(i) e + (i) g 9o A
(iii) e e

SECTION - B (@%-9)

. Robert Hooke observed honey comb likeﬁompartments in thin slices of cork.
What were those compartments? » k
(i) cells with cjrtoplasm (i) living cells
(iii) dead cells (iv) no cells

Wﬁmwﬁm@@#n@aﬁf@@%ﬁﬁmmml
I YRS F 4?2
(i) IR X7 WfEd RifeeRTd (ii)?ﬂﬁﬁm

(iii) Hﬁm . (iv) aﬁ%aﬁﬁﬁmﬂﬁ

. Bandipur National Park (BNP) is an important reserve for the

(i) proje_ct ﬁger (i) one horned rhinoceros
(iii) wild buffaloes : (iv) swamp deer
WWW(BNFWWW ARFEIT & € T8 ®
() e fEsEr ) e e

(iii) SRt & | (iv) @9 fewor

. Why do plant cells have an additional layer surrounding the cell membrane?

mﬁﬁm&ﬁﬁaﬁﬁmﬁwﬁ@aﬁ@xwaﬁrﬁmwﬁgﬁrﬁ
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31.

32.

35

35,

What is the role of micro-organisms present in the alimentary canal of some

animals?

maﬁaﬁaﬁm%ﬁﬁmq&nsﬁaﬁﬁmw@?ﬁﬁ

What needs to be kept in mind while selecting the plants for reforestatlon?
YR % fau diel &1 599 S 9Hg e o ufiass | Fa faer e
1 SR 7?2

What are antibiotics? Name any one such antibiotic and the microorganism

from which it is produced.

Tiarifed 1 BN 82 UH CARifed H AW de 9 WeH Sfd K W
fefey fe@ sgent sa= fran st 21

OR ( 3¥@n)

What are vaccines? How do vaccines work?

AT () F B 27 dfT foRE YR wE w5 27

Write the name of the causal organism of the following diseases and the
animal infected by it ‘

a) rabies ring worm
g

ﬁwﬂ*ﬁ%msﬁaﬁimammm%ﬁaﬁﬂaﬁ%m

ﬁf@@ = |
(@) | ‘ (b) R

It was decided to construct an air-conditione< shopping mall in place of a park
ina colony. Children of the COiOIlY took oﬁt a march agains* this decision
with placards to make the people aware of the importance of green plants.

(@) How does the ecoéys-fem get affected when plants are removed? :

(b) What values are shown by the children?
@Wﬁmﬁwmqmwmﬁﬁﬂmaﬁmmﬁm
freer fofan T 39 Fia & a=a 4 ® W F WES F U TEHT W
% fau swe feem & foig o syaen! wfed A=l frawr
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() ST WE T R W@ 2 dl TR R yeR geifea i €2
(b) === g WRfid 9o w72

. What role do the following cell organelles perform?
(i) nucleus ‘ (ii) chromosomes
(iii) vacuoles
et wifereRT iRl 1 iyt = 27
(i) HEH ' ‘ (i) HHEEH
- (iii) TEEfET /

. Draw a neat diagram of plant cell and label any three parts which

- differentiate it from animal cell.

T IR 1 S ST Ay o Rl @ A e A i

T S e W e w3 2

For visually impaired students only in lieu of Q. No. 37
H 37% WA W ghe aifya faenfdar & fau defeus uv
Differentiate between plant and animal cell. (Any three differences)

TEY ISR qe1 S IR & Hem d fagew § fausa wifsw)

. How do microorganisms play the role of our friends in the following :-
(a) in cleaning the enviornment (b) in food industry
() in agriculture' : (d) in energy/fuel production

(e) Sewage treatment

ﬁmﬁﬁqwa&ﬁaﬁ@ﬁ'ﬂaﬁﬁm%?

(a) TAERTl WS wE H (b) TR M H
FwF (d) IelAE S
et TR | ' |

'OR (319 )

(a) Explain what do you understand by food preservation.

(b) Describe four methods of food preservation in brief.

St
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39. (a)

(b)

wuﬁmﬁmwvwﬁ%’?w&ﬁml
q&q ¥ T ufemr st =R fafes w1 gofa sifsm)

Explain four main causes of the current rate of extinction of endemic
species.
Mention two project and programmes started by the Indian Government

concerning nature.

W%wﬁ@q&r%ﬁﬁaﬁma@wg@mﬁﬁmﬁl
fafem) |
Wﬁr@wﬁmwmmaﬂﬁmmﬁﬁﬁﬁmﬁw

FHEH 1 Sooid HITST|

OR ( 3197€T)

Explain migration?
Why do animals and birds migrate?
What methods do the birds use to navigate?

7o & SR ¥ famr 9 fafew)

S dem velt yare | e 22 | |

vl A w3 & foau few fafal &1 s e 22 , |
|
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